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C & #B # O ®F D)
T VAR SRS P 1 I - 13 735,965 73,570 60,934 - 140,772 -
I A E 1 1 3 94,325 25,691 7,966 1,154 54,775 21,136
LE U PR VAR C L i 4 - 3 164,409 39,744 26,511 3,126 224,508 66,212
B WS = fif 6 - 2 191,395 28,139 10,860 986 136,101 27,732
F 5o S A8 # SR X OE A 3 1 7 98,994 28,120 9,778 725 131,667 39,790
5 ST P B X - 1 3 21,607 6,758 1,823 221 23,316 10,772
E= I VAR NI A = - - 3 21,884 6,776 420 97 11,906 5,461
EA ) \* € X E A 1 - 2 24,414 7,437 780 155 13,432 4,957
5 o> [ T ST A R [ 3 A 4 1 3 118,425 28,603 13,020 1,605 95,581 29,440
FEoE ﬁ ST R ] X A - - 4 34,661 9,559 * * 33,448 11,062
G 5o [E T 57 36 11 X 1 - 6 57,269 18,123 * * 72,237 33,591
= B W oy XM OE ﬁa 14 - 13 362,714 81,535 43,958 6,991 719,318 215,132
= R A % IR 4y 2 - 3 38,716 13,057 * * 139,804 59,217
CiI i TRV P ﬁa 6 - 8 268,942 63,108 35,403 4,642 506,963 221,207
& % i 57 f% Ay 4 - 7 174,728 50,415 33,657 2,490 222,187 84,489
MW R AL & — - - 3 25,114 11,713 * * 56,751 28,372
22 - TR VA = gy 18 - 33 501,085 123,010 156,091 - 1,003,999 346,754
WE S A OE X E - - 3 34,945 12,031 857 - 17,056 4,078
== rARVAC SR P 1 ) - 39 733,276 193,273 163,184 12,924 1,388,820 409,741
=0 S AN ] e 2 - 8 119,558 40,111 - - 326,622 122,422
(RS TV £ 1 - 5 65,281 27,134 - - 135,405 58,398
(= S TV A S el 1 1 - 6 106,402 33,460 7,080 1,034 137,834 51,495
BLElar b X EaE 12 - 21 439,863 121,913 99,956 9,830 786,172 289,078
(g = YA i sl e 1 2 - 3 72,043 23,826 * * 111,681 38,554
B E W ) X E 2 - 2 37,190 14,012 - - 57,605 18,544
*% ] oSz o X OE g 17 - 29 468,548 115,588 30,766 - 755,857 -
Bl ST D ok R E A R A 2 - 3 56,239 16,853 2,039 - 102,808 -
4 ) 7 7 o ok [0 A 3 0 4y 2 - 3 36,680 11,331 1,074 - 76,204 -
et TERVAR 2 L == 1 4 - 29 139,677 21,686 28,266 - 471,844 -
I TRV A I = iy 2 - 8 104,529 38,972 7,088 - 155,985 -
e I T VA = T P 1 4 - 16 285,998 70,480 36,186 - 971,747 -
B oS TS X OE 2 - 8 180,784 40,755 14,536 - 448,187 -
e I SRV a5 I P 1 2 - 8 170,172 40,507 17,520 - 491,488 -
T N TR VAR | ol 2 - 7 110,403 46,457 11,508 - 314,112 -
B [ T N2 E Ak b e [ S A 7 - 28 481,653 67,143 31,859 - 612,038 -
B ) T SZ % K B (X 2 A 2 - 8 124,782 43,459 9,255 - 253,885 -
e om oS TR X E A 2 - 7 98,970 25,659 4,507 - 95,417 -
BEHE T ST MR X OE A 7 - 20 229,567 73,489 109,874 6,866 558,027 181,144
He T SL K IR I X E A 4 - 4 115,127 36,000 109,874 6,866 199,090 63,935
B K TS BR R X A 6 - 21 304,212 84,770 107,172 8,101 709,968 253,126
JER B2 T ST ) HY L X R 4 - 12 130,721 41,291 * * 244,256 73,791
RERG T TR L A R o] — 4 42,113 17,189 - - 40,432 17,952
BEE B | X E 8 - 15 262,332 75,742 49,615 - 370,108 126,447
BOH W AR X E 4 8 93,998 25,924 - - 140,464 62,178
[ I T T 3 - 1 - 3 26,177 12,151 1,161 533 20,629 11,021
Moz B S HE R X A 1 2 2 29,922 10,151 4,893 905 28,142 14,265
Moz JETH ST R R X 1 2 2 25,155 12,233 2,085 905 31,022 14,056
?ﬁﬂ i W TN = 6 - 11 247,393 66,286 38,897 3,440 417,308 136,671
25 )11 T 57 [ 5 A 55 )1 ST 3 1 9 134,226 37,205 23,619 2,095 197,536 99,857
sﬁ% DL A N P 2 - 6 110,075 31,132 12,186 1,710 174,578 70,599
I Sz o [ i 8 - 12 316,633 87,605 68,520 - 567,991 250,674
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g s KA X E 2 - 5 95,092 36,107 8,588 697 90,716 38,311
LI FEVA NI W B 1 4 - 6 147,756 53,708 8,987 1,237 220,092 79,449
OO R X OE M 12 - 0 366,111 106,974 34,137 - 621,431 221,905
WL EXE 3 - 3 91,253 31,350 8,713 - 221,636 82,352
LR I TR VAR: R S P 1 4 - 3 124,356 43,132 10,840 - 327,160 -
LR AT VAR = U1 4 - 6 146,408 53,908 11,964 - 248,019 103,313
LR I TR G R U 1 2 - 2 59,604 21,386 5,514 638 41,674 20,672
RIS R I F A 4 - 1 199,968 66,818 61,222 5,611 396,117 170,215
WO L& WX E 3 - 3 78,663 30,647 61,222 5,611 135,847 65,123
I E VAR LR P 1 4 - 6 172,499 54,470 37,423 3,140 298,605 128,331
W S R XE A 2 - 5 108,609 28,460 - - 119,204 51,656
e sl 5L B B 16 / 7 325,931 66,063 27,980 3,248 383,649 87,925
I N A ] E 4 / 4 62,910 17,154 8,359 1,223 174,936 61,396
ks TSz b db XOE AR 11 / 3 397,123 49,084 33,919 6,308 670,970 230,613
I N A E 3 / 3 59,512 17,592 9,121 1,925 227,108 88,080
TR W PR 3 / 4 67,221 16,142 12,889 2,856 247,022 88,664
I N A & 3 / 4 76,348 17,805 14,374 3,000 260,468 88,388
I N A E 3 / 4 83,464 19,098 14,962 2,816 271,575 90,129
I N TERVAR T P 1 3 / 3 58,229 16,955 7,806 1,958 165,332 66,641
A N U 3 / 4 69,926 17,022 12,421 2,707 250,879 86,508
e ST E W 9 X E A 3 / 6 66,836 19,096 13,872 3,150 324,329 119,791
IS N TR VAR i | o = 1 6 / 0 247,617 71,427 25,954 5,288 430,458 178,579
I A TEVARP N N P 1 3 3 1 124,535 40,904 9,648 1,524 90,199 48,064
I TTIRVAS - TP o 1 3 / 3 70,206 18,955 3,856 790 64,291 26,505
IRV IVAD P o 1 3 / 3 62,040 15,163 6,828 1,757 165,239 73,432
I VTV ERVAR i NN 3 1 3 / 5 133,128 30,073 9,598 1,822 188,412 51,081
I T ENVARG Rl o 1 3 / 3 78,855 27,037 4,107 985 60,453 25,660
W s S = B OE A 3 / 3 84,900 21,298 4,775 685 82,704 23,760
e A TIVAE O QP 1 2 2 / 39,727 13,408 1,193 307 9,969 3,602
A TV /NI R 3 1 2 1 18,773 8,979 927 199 8,186 3,274
I A T/ NI 2 S P 1 1 8 / 10,261 3,906 509 102 3,318 853
TV EVAR- - TIRP  1 / 4 / 5,866 1,605 118 29 450 47
e 8 7T SE A o BT X A / / 9 28,542 11,275 1,430 477 144,470 73,819
b = VA E 5 - 3 102,606 22,029 13,259 - 68,200 20,127
o H B S Xk o F 1 - 2 29,097 10,333 5,430 720 44,072 19,871
[E LA VA E 1 1 2 81,180 24,459 - - 88,694 42,688
fr g BTSE & - - 2 31,993 13,612 5,570 632 33,824 14,226
[ A VA E 1 1 3 25,324 7,618 3,000 466 16,131 5,999
oK B 5L E 3 - 2 67,576 20,714 11,684 - 124,683 -
B OR TR £ f 3 - 5 138,078 45,113 30,446 2,069 201,423 49,752
Nl BTN E 2 1 2 103,890 23,854 16,411 - 62,697 30,474
ER LI vA E ) / 7 116,202 32,708 33,694 2,374 250,960 90,658
& B NZ N 2 - 3 74,875 23,956 8,449 1,641 72,088 38,253
(& B X & = )
B P T ey R X - 3 3 46,604 14,868 8,652 516 79,538 38,540
JIHR A BT 324k 2 i Y] 3 ] - 1 - 11,165 4,100 - - 1,936 350




